14-1=# % * % = 4B 3425 34 % (501-5031)

BEBE 2 WREE BESR e EERHIAN LEERUNES

B EBSUEER 1131211 501 02 SEF BEF 502H =
2£(501-503)

B LEUEER 1131237 501 06 T BEF 502H =
2£(501-503)

B LEUEER 1132255 501 10 CHES BELR 502H =
2£(501-503)

B EBUEER 1133241 502 04 5 FER BEF 502H =
2£(501-503)

B LEUEER 1132122 502 14 = BEF 502H =
2£(501-503)

B EBUEER 1132140 502 15 ZER BEELE 502H =
2£(501-503)

B LEUEER 1133113 502 20 R BEF 502H =
2£(501-503)

B LEUEER 1133119 502 21 BEF BER 502H =
2£(501-503)

B EBUEER 1133130 502 23 EliF BEF 502H =
2£(501-503)

B EBUEER 1133137 502 25 BRIEIR BEF 502H =
2£(501-503)

B LEUEER 1133165 502 29 =) BEF 502H =
2£(501-503)

B LEUEER 1133170 502 30 REM BER 502H =
2£(501-503)

B LEUEER 1133171 502 31 #BhER BEF 502H =
2£(501-503)

B LEUEER 1133175 502 32 BRRF BEF 502H =
2£(501-503)

B EBUEER 1131239 503 02 o] R3fE BEF 502H =
2£(501-503)

B LEUEER 1131242 503 03 RIS BEF 502H =
2£(501-503)

B LEUEER 1132228 503 05 MERIT BEF 502H =
2£(501-503)

B LEUEER 1133222 503 08 BES BER 502H =
2£(501-503)

B EBUEER 1133227 503 09 = BEELE 502H =
2£(501-503)

B EBUEER 1133257 503 10 =HE BEF 502H =
2£(501-503)

B LEUEER 1132120 503 11 MRH BER 502H =
2£(501-503)

B EBUEER 1133125 503 18 BEIW BEF 502H =
t2£(501-503)




14-1=# % * % = 4B 3425 34 % (501-5031)

HERE 2 WREE BESR e RRHEN LEERUNES

B EREEER 1131227 501 03 ER= BRARSE 503 =
2£(501-503)

B EREEER 1131232 501 04 BRI BRARSE 503 =
2£(501-503)

B EREEER 1132271 501 12 =it BRARSE 503 =
2£(501-503)

B EREEER 1131104 501 15 52 A BRARSE 503 =
2£(501-503)

B EREEER 1131110 501 18 FERE BRARSE 503 =
2£(501-503)

B LEEER 1131121 501 19 23R BRARSE 503H =
2£(501-503)

B EREEER 1132108 501 23 Fir5 BRARSE 503 =
2£(501-503)

B EREEER 1132127 501 25 FFES BRARSE 503 =
2£(501-503)

B EREEER 1132142 501 26 SRR BRARSE 503 =
2£(501-503)

B LEEER 1133112 501 28 28 BRARSE 503H =
2£(501-503)

B EREEER 1133134 501 29 B BRARSE 503 =
2£(501-503)

B EREEER 1133139 501 30 FOAEEE BRARSE 503 =
2£(501-503)

B EREEER 1131106 502 05 TR BRARSE 503 =
2£(501-503)

B EREEER 1132152 502 17 0N BRARSE 503 =
2£(501-503)

B EREEER 1133145 502 27 M BRARSE 503 =
2£(501-503)

B EREEER 1131233 503 01 BEXS BRARSE 503 =
2£(501-503)

B EREEER 1135201 503 07 UL BRARSE 503 =
2£(501-503)

B EREEER 1132131 503 12 mEZ BRARSE 503 =
2£(501-503)

B EREEER 1133106 503 17 il BRARSE 503 =
t2£(501-503)




14-1=# % * % = 4B 3425 34 % (501-5031)

BEBE 2 WREE BESR e RRHEN LEERUNES
B EHBIEER 1131205 501 01 TR R 5018 =
2£(501-503)
B EHBIEER 1131235 501 05 BRES =R 5018 =
2£(501-503)
B EHBIEER 1131241 501 07 RE= =R 5018 =
2£(501-503)
BLLIHBEER 1131246 501 08 HEM I 5018 =
2£(501-503)
B EHBIEER 1132207 501 09 FEE =R 5018 =
2£(501-503)
B EHBIEER 1132258 501 11 E%E =R 5018 =
2£(501-503)
B EHBIEER 1133210 501 13 SRR =R 5018 =
2£(501-503)
B EHBIEER 1133242 501 14 eI 3 4 =R 5018 =
2£(501-503)
B EHBIEER 1131109 501 17 ks =R 501H =
2£(501-503)
B EHBIEER 1132104 501 22 BRfeE =R 5018 =
2£(501-503)
B EHBIEER 1132172 501 27 HEE =R 5018 =
2£(501-503)
B EHBIEER 1132239 502 01 BEE =R 5018 =
2£(501-503)
B EHBIEER 1133211 502 02 SRk =R 5018 =
2£(501-503)
B EHBIEER 1131129 502 06 HamR =R 501H =
2£(501-503)
B EHBIEER 1131143 502 07 RIEE =R 5018 =
2£(501-503)
B EHBIEER 1131144 502 08 Btz =R 5018 =
2£(501-503)
B EHBIEER 1132112 502 11 BHE =R 501H =
2£(501-503)
B EHBIEER 1132145 502 16 EUH =R 5018 =
2£(501-503)
B EHBIEER 1133143 502 26 AfRE =R 5018 =
2£(501-503)
BLLIHBRER 1133204 503 06 BRA#IB I 5018 =
2£(501-503)
B EHBIEER 1133133 503 19 I =R 5018 =
2£(501-503)
B EHBIEER 1133148 503 20 &tk =R 501H =
t2£(501-503)




14-1=# % * % = 4B 3425 34 % (501-5031)

HEZE L HiRETE EESH e IRERHLEN ERME
B_ fgeptiZEHRE 1131108 501 16 BTE Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1131122 501 20 RIS Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiBEHRE 1132101 501 21 WEl 2 Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1132110 501 24 FER Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZERE 1133216 502 03 Bl Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1132102 502 09 BES Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1132103 502 10 =Rt Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZERE 1132114 502 12 [EERE) Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiBERE 1132117 502 13 FuiE Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZERE 1132164 502 18 =HE Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1132178 502 19 FrE Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ tgeptiZERE 1133126 502 22 ZF1E Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZERE 1133135 502 24 SRFEF Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1133159 502 28 R =17 Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZERE 1132205 503 04 =2ERE Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B__LgeptiZERE 1132146 503 13 FHais Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1132157 503 14 LEG ek Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1132159 503 15 RRE Ronnine 1FZTHE
(501-503) S(EAFIT &R
HE)
B_ fgeptiZEHRE 1132160 503 16 A Ronnine 1FZTHE
(501-503) S(EAFIT &R

HE)




14-1=# % * % = 4B 3425 34 % (501-5031)

HEZE L HiRETE EESH e IRERHLEN LER 2N
B__LgeptiBERE 1121145 503 21 RBEZ Ronnine 1FZTHE
(501-503) 5(RIFHLER

HE)




